
80/20 Part # Description
Measured 

Qty Margin
Updated 

Qty  Unit Cost   Estimated Price 
3030‐S 3"x3" T‐slotted smooth profile, 242" long 13.20 2 27
1530‐S 1.5"x3" T‐slotted aluminum profile, 242" long 6.99 2 14
1515‐S 1.5"x1.5" T‐slotted aluminum profile, 242" long 8.48 2 17
3330 5/16", 11/16" long button head screw 2088 5 10440
3340 5/16", 1/2" long button head screw 1000 2 2000
3203 5/16" slide‐in t‐nut 2088 2 4176
4334 4 hole gusset corner brackets 20 2 40
4338 8 hole gusset corner brackets 195 1.5 293
3278 Single slide‐in economy t‐nuts 176 1.5 264
3279 Double slide‐in economy t‐nuts 300 1.5 450
3360 Anchor Fasteners Assembly 100 1.5 150
3362 Anchor Fasteners w/bolt & Roll‐in 100 1.5 150
13040 Roll‐In T‐Nut w/ball spring 5/16‐18 1000 2 2000
3380 End Fastener w/ 5/16‐18 screw 100 1.5 150
3344 Double End Fasteners  w/ 5/16‐18 screw 50 1.5 75
3364 90 degree Inside Corner connector 10 2 20
3368 90 degree Inside Corner connector Die Cast 10 2 20
2111 T‐Slot covers (Gray) 10 2 20
2824 T‐Slot covers Economy (Gray) 10 2 20
12006 T‐Slot tread strip Slot 8/10 Rubber Black 4 2 8
12316 Cable Mount Block 1/4 turn Black 100 2 200
3346 T‐Slot Nut 15 1.5 23
12026 Cable & Tube Clip tab8 Black 50 2 100
2100 Tool Hangers 4 2 8
2488 Drop‐in Panel Bracket 100 1.5 150

TOTAL ‐$                      


